Totod numbers® SEGTEEIEER
= 164181042k V1A ES |
\0

2. 22,02,147,50,49, 111, 10:5
;——MEQIL.;;___ 2.2 +10- 2414 1+5- 4449+ W1 4105



HP
Pencil


& “’IS\' 5 Py;m A ' \s “ :
. 5 e, 1,11
L Meon- \+7.+5+‘1_+ 11

B 5 A 8
@Q meah of e)\,6, \'-i,‘x_ nd \3 A
- 66 Find the value of % e

\V\eom Sum ot all_humbers
Totod numbers

_ ‘_--6(, el N+ 6414

154 HaA4x
B 6 - D} > 296 2 524 |

B 5U6-52 Ans.

5 The maeon of 6,8,%+2 1025129 |
B -Find

Rt 100 umbe’ts e

- . .f‘ ; . mese -. = X - L.-".'.‘f_ '*
& aF \L :“' ' ‘_—,- — .



HP
Pencil


. Find Meon - Aqe of 20 boys n o .ﬂmﬁ;-'
Aﬁ \h YQOYS X |

1o s A0

N0 of Boys 2, | T

3



HP
Pencil


Mean = 200+ Y2t 1504120 196
e O |
916 £ LB

‘---—.——-.—_—.—--._. — e e
—

Meom = 1Oy 140415 5 I
20 s



HP
Pencil


105 48
125 |2%05
215

=2 ]‘}"C} =-'> {'lul - \’2—5)_(_2. \ s | u-.ufl
1500 LY 4 2

15122 |
LS S

Mooy, - 1500 +7215+382642200 ds0f |

=R ]
| Bnan



HP
Pencil


i Bt
e ————————————

3 1, 657,9,11,16,16,51,8l,] 0L, Wk
Meadian = ode. ?-_rf\:b: ——

FM gan,-_-;_:)%ﬂfc_ff +8| +HO\ 1121 N
| g , i

. Y20 =) 58-1818 { Ans

3)1\&..@@9& in_kg of 10 suderts ang 1.._ .'
—_9]—&“ 'bdowr' 3%‘-13,36,33)!.‘6,5533_)& 13

| ;j'_': o 338,39, 43)45,44,44,46,5] = =8

RO R T



HP
Pencil


AT rITY——
b 12y 17,3, 14, 59 bl

Meolian= 812 _liolanetl _ﬂj
6T Ffollowing obscvva%ons are amgngd n
_ascending order-The medion of the _inQ.___a

1s 25 Find A
B \l, 11;*‘2-'4)7!*-')35 36;'16

|
[ . it

——

Mthn = ’»L.J_r,.—l_.,
_’)‘E) 2 Nt
o5

—



HP
Pencil


